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Intro

Today we will Be“H learn v"o 97 of 77730 noomn.
Some of the topics we will learn about include:

7 70 12

The wayward son.

The Gemara discusses

1.

1

IR RO

Only a son, and not a father, can become a 771 70 13;
which means that if the 77119710 12 fathered a child, these
Halachos do not apply to him.

2.

M N0 1250 P 5o

The timeframe during which a boy can become a 9710 2
7y

Either

751000 )

Only until three months after he becomes an adult;

OR

MW DY R2WH

PTYPw T

Until his lower beard fills in, whichever comes first.

om op
Whether a minor can father a child?

Yaws NI

Whether a woman, who gives birth after seven months,
shows her pregnancy only after three months, or earlier at
a third of her pregnancy, which is 2 1/3 month.

N7 N2 5%
We follow the majority, even in capital cases.

op NN
The age when a boy or a girl’s marital relations are
recognized by Halacha.

DIWRITMNT
The Gemara brings several proofs that earlier generations
fathered children at age eight.

DafHachaim.org

17101 M0 Ja

12

NN MO 12 YW 1PN? 5O
T2%2 DXWTN ‘2

MDY NY R12VN
IPT P70 TV

%M Jop

nYyaws nToHr

N217 N2 Ot

JOp NRN2
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So let's review...

The Gemara earlier cited the opinion of na7:
TOMIPR JOP
A minor cannot father a child.

And a xn»12 elaborates

VI TN WR

VI T O PN

An adult’s y71 can father a child, while a minor’s Yt
cannot.

The Gemara challenges this assertion from the following
NnQ™2:

1

AR KD

Only a son, and not a father, can become a 77 770 2.
And as Rashi explains;

VYPNT T'OM

12157539200 12

70190 12 WYIIPR DWT

The Gemara, at this point, understands this exclusion to
mean that if the 7715 90 12 fathered a child, these
Halachos do not apply to him.

DafHachaim.org

297

TP 1R VP

A minor cannot father a child.

AN
VTN TN WIR
YIITM TN JOP PR
An adult’s vi1 can father a child,
while a minor’s v 1 cannot.

)(_"/)u)p

R RN - 12
Only a son, and not a father,
can become anm MD )2.

And as Rashic explaing;
DVHNT 77O
1515 750 9350 13
O MNP 13 DEWY WP NET
The Yemara, at thiy point, understands, thiy exclusion
ty mean that % the dum 77/0/9/4«1%@#@/&/0%«;&/,
these: Halachoy do not appley to himn.
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However, the Gemara asks that 'X750175 17 says;

7M1 90 12 5w 7y D

7252 DWTN 2 ROR PR

The timeframe during which a boy can become a 7m0 2
771 is only three months from when he became a 517
And a child certainly cannot be conceived AND born
within three months. Unless we say that this exclusion
IRRYI2

Refers to where

MW W 1757 DR T2RT

This child was conceived earlier, when the 77117970 12
was yet a minor, and born after he became a %173

oM JOp 'Y

This proves that a minor CAN father a child?

The Gemara answers that

IRRD 2

Must be understood as

1

AR IMIPHY IRITRD

The Pasuk excludes a boy who is fit to be called a father -
which is after the pregnancy becomes noticeable at three
months after conception - and it all occurred after he
became a %17, exactly as 'R790173 37 ruled.

DafHachaim.org

Py

L]
©£3090/23 7P

77191 9M0 12 YW PN H5
7292 DYWTN 2 ROR 1R

The timeframe for a boy to become amm D )2
is only three months from when he became a 572;

And a child certainly cannot be conceived
and born within three months.

Unless we sty that thit exclusion
aR X7 2
fgﬁm/ ty where
MIPW NW 'NMHT MPN NAVIRT

This child was conceived earlier,
when the nmm 371D |2 was yet a minor,
and born after he became a »12.

7'M VP N"W

This proves that a minor can father a child?

v
aR X )2

Must be understood as

2R INNPD MR RHY - )2

The Pasuk excludes a boy who is fit to be called a father,
which is after the pregnancy becomes noticeable
at three months after conception,
and it all occurred after he became a 51713,
exactly as NToD112 1) ruled.
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. The Gemara elaborates on the timeframe when a boy can
become a 7m» 10 12
On the one hand, *’R790175 17 ruled;
7 N0 1250 P 5o
7252 DWTN 2 ROR PR

This stage lasts only three months. 2 w #£799/13 )
However, our Mishnah ruled R2OVND 'J'L’J NI I’:
RN MW *NY NI MO 12
From when he presents two pubic hairs and becomes an ]Pt Q’p’w ™ Nl’R ]J’R
adult, until his lower beard fills in? From when he presents T:I,J D'WIN ‘2

two pubic hairs and This stage lasts
The Gemara answers b?CO'nes an adult, Lmtll only three months.
17 PN his lower beard fills in?
DWIN 3 HP RYT VR
DWIN 2
PPIRYT VR ?
He can only become a 7711 90 12 until either of these
events occurs, whichever comes first. The g@mam/ andwers

1Pt PN
DOWTN 2190 RIT 2"PR
DOWTN 2190
_ _ 7PN RYT 17YR
. At first, the Gemara infers from "R790175 °27's ruling;

Yaws Ny

71 WHWH 923 W PR

Even a women who gives birth after seven months does
not show her pregnancy until after three months, and not
after a third of her pregnancy, because otherwise
5%

N30 RN "IN

He is fit to be a father after 2 and 1/3 months? n))JI’J'J ﬂ'f'?'l’
7Y WIHVWH 9572 NI PR
Even a women who gives birth after seven months

does not show her pregnancy until after three months,
and not after a third of her pregnancy,

'3 b
R0 XRNY>M "IN2
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However, the Gemara rejects this inference:

P RIPR

P WY 121 17w

el bl

It is possible that her pregnancy IS noticeable after a third
of her pregnancy, at 2 1/3 months. However, the Pasuk’s
reference follows the majority of women, who give birth
after nine months. Therefore, he can become a 7 90 12
for the full three months, based on 219, that we follow the
majority.

The Gemara points out that although regarding mwa3 *»7,
capital cases, the Pasuk says

7TVNIYIM ATV VOV

We seek to be lenient in capital cases;

Nevertheless, we follow the majority, and as the follow-
ing Mishnah rules:

WIN2 01w IR TR

31 MR TIRY

YR MY

If one witness reports that an incident occurred on the
second day of the month, and the other says it happened
on the third of the month, we accept their testimony. We
do not consider them to be contradicting each other,
because

VISV MY YT M

VTP IPR N

We assume that one witness knew when p7 na
established wmn WK1, and the other witness did not,
because

RM7T RNDYIVOT T2V WIRT RN

The majority of people err in this matter.

DafHachaim.org

VY

The Gemara rejects this inference:
P> RN
D wdwb 10 MW
N2 N2 DT

It is possible that her pregnancy
is noticeable after a third of her pregnancy, at 21/3 months.

However, the Pasuk’s reference follows
the majority of women, who give birth after nine months.
Therefore, he can become anm D )2
for the full 3 months, based on .

The Gemara points out that although regarding mwo21>7,
the Pasuk says

DR Tk Bei b
We seek to be lenient in capital cases;

Nevertheless, we follow the majority,
as the following Mishnah rules:

WTN2 DIW1 IR TR
22 MR TR
MR IMTY

If one witness reports that an incident occurred
on the second day of the month,
and the other says it happened on the third of the month,
we accept their testimony.
We do not consider them to be contradicting each other,

becawse
WTN YW 1M YT NT
YTI? 1°R NN

We assume that one witness knew when pT1 m2 established
YTIN WR), and the other witness did not,

because
MVIRT RANM
RNIT N2 POT 2T

The majority of people err in this matter.
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The Gemara seeks to bring another proof that we follow
the majority even in mwo1°1T:

TIR 0P 07w WHW N3

As soon as a girl turns three years and one day, her nx°a
has full Halachic status, and so the following Halachos
apply:

AR DWIPNIN

She can be betrothed by having marital relations;

D2 75y RIDN

RIP

A D2, her childless husband’s brother, acquires her by
having relations; and

WR NN 00N M5V =kl

If she marries, one is liable for having relations with her as
an W’R NWN,

The xn12 continues with many more examples of the
Halachic ramifications of her nx’a.

And the Gemara asks

RO7I TPIDVR RIPR

WTR RY 77 ROVTNR)

We should suspect that any minor girl might be a mib»x, a
woman who will never mature physically, and so her
marriage was under mistaken assumptions and therefore
invalid; how can we put someone to death for having
relations with her as an wRr nwN?

Clearly, because

R217 902 571 R

NPIPNIIRIRD DWI NN

We follow the majority even in capital cases, and the
majority of girls do mature.

However, the Gemara rejects this proof:

JPPOY R RN

MY noapT

The Xn»72 might refer to a case where the husband
accepted all possible outcomes when he married the girl,
and so she is certainly an v’k NN,

DafHachaim.org

TR 01 DY WHW N2
As soon as a girl turns three years and one day,
hernmn has full Halachic status,
and so the following Halachos apply:

NN22 NWTPNN

She can be betrothed by having marital relations;

NRIP - 022 1YY X2 XY
A D2, her childless husband’s brother,
acquires her by having relations;
WIR NOUKR DIWN NYY 12 Mm
If she marries, one is liable for having relations
with her as an wn nwN.

The prmp confinues with many more mm/}/w 0%
the Halachic mxw%wafww o% her n.

P4
And the Gemara asky

N DIOIDYR NN
WP RD DNT NRNYTN)

We should suspect that any minor girl might be a mab»n,
a woman who will never mature physically,

and so her marriage was under mistaken assumptions
and therefore invalid;

how can we put someone to death
for having relations with her as an wR nwN?

N2 N2 DT )9IDN
1N PO5YRIND Dw) 2

We follow the majority even in capital cases, and the
majority of girls do mature.

X
12°pOY RN RN
MY NYapPT

The Rpm2 might refer to a case
where the husband accepted all possible outcomes
when he married the gir,
and so she is certainly an N HDWN.
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The Gemara now cites a Xn12regarding the age when a
boy’s X1 has Halachic standing:

TOR M2 NYSoPn

132 7vm

If a minor son performed X7y, the initial stage of N3,
with his mother, there’s a Machlokes:

DIDINRRDYW 1’2

piiaenRisapleh)

7PWIn 550

w"a says that it is considered a 718’2 of a MY, and she is
now considered a 711 and disqualified from marrying a
.

71”1 says that it is not considered a X2 and she may still
marry a j.

The Gemara explains:

on YN

TAR OV DIV YW 23

N2 INRAY

All agree that once a boy turns nine years old, his 78’2 has
Halachic standing;

TIW 1210 MNo

R2INR PRY

And if he is less than eight years old, his ix’2 has no
Halachic standing.

RORPHMI R

Y 122

They disagree regarding a boy between eight and nine:
20 RPW N°27

DNURIT VT PN

7720 550

DNVRFI MO PR

w”1 holds that since earlier generations fathered children
at age eight, this shows that their 7x'2 has Halachic
standing, even today.

While 7”2 holds that we do not derive this Halachah from
earlier generations, since the reality today is different.
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The age whenw & éo?/ "y o hay Halachic u‘alw/mg/

1O N122 NHYHIONN
N2 NIYM

If a minor son performed N7,
the initial stage of "N, with his mother,

iy
PPWON
It is not considered a nna

and she may still
marry ajno.

Al
NNNON 1 NYOD

It is considered ann2 of amv,
and she is now considered
anr and disqualified
frommarrying a)no.

D g

DT bon

NINY )20 NND "N D" DY 'D )2]
NN 1N PRY NN INNIY

And if he s less than All agree that once a boy
eight years old, turns nine years old,
his nm2 has no Halachic his nv2 has Halachic
standing. standing;

NDN 1p5NI RS
npwy )22
They disagree regarding a boy between eight and nine:
po Ml Pz
TN )MPNa
DIWNIM

Since earlier generations
fathered children at age eight,
this shows that their nn2 has
Halachic standing, even today.

IPo %JMD/
DNTH 1202 R
DIWNIN

We do not derive this
Halachah from earlier
generations, since the
reality today is different.
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The Gemara now cites several Pesukim as the source that
earlier generations fathered children at age eight:

1.

The Pasuk says

IR PR NWR 05X N2 YW N2 NIRRT

And another Pasuk says

M5 SOPNR 12 DYOR

Thus, 1507 5w, who was Yaw na’s son, was Y0rR's
great-grandson.

Now, a Rn»71 states

WHWI DWHW ROR 1R HOINIR YW PInw Y

Sownr only lived for 33 years, and nnbw was seven years
old at the time of his death. And so, Y91"nx was 26 when
bW was born.

33-7=26

M2V RNSNZ W NN 57

TR PN TN TA 53T NONWR

If we subtract two years for the three pregnancies, we see
that each generation fathered a child at age eight.
26-2=24

24/3=8

However, the Gemara rejects this proof:

TUIR YO HPIIN RPST

PWIARTIR VIV NN

R71 RDORT DIWD

Perhaps the men fathered the child at nine, but yaw na
gave birth at age six, since women have more energy?

Dedicated By:
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The source that earlier generationy
/az%ere/ children at age W
4
oirn = P e Rt RS
TS SN PN
And another Pasuk says
i g fa mhroN
Thus, 75pn nndw, who was vaw N2’s son,
was bonnN’s great-grandson.

Now, @ tpmp states
9DINNR YW PIMIW 9O
WOV DMWYV KRR 1R

Soinn only lived for 33 years,

and nnbw was seven years old at the time of his death.
And so, 5omnN was 26 when npbw was born.

33-7=26

112y XRNYNY MW NN HT
TR 21PN TM TN Y57 NONWNR

If we subtract two years for the three pregnancies,
we see that each generation fathered a child at age eight.

26-2 =24

24 +3=8

X

However, the Gemara rejecty thi progl:
TR YVWN2 NMIN RNHT
WA RTIR YW NN
N2 RNNXRT DIVD

Perhaps the men fathered the child at nine,
but vaw n gave birth at age six,
since women have more energy?
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2.

The Pasuk says

1IN M0 7R

197 DRY NI DR 07IR DR PO 1N

The Gemara points out

9D D730 1w D17 DTN RO

Apparently, bi1ax was two years older than 177 Now,
D077aR married 779w, who was 177's daughter, and 77w was
ten years younger than he was. Thus,

TR 302 7S 137 TR D AONWR

77w was born when 177 was eight years old.

However, the Gemara rejects this proof:

M MART RO DAIIR RHST

M2 VR RP NN I

Perhaps bi72x was the youngest of the brothers, yet the
Pasuk lists him first since he was the most notable of the
brothers?

3,

AT 7ORD MM 2 IR 12 HROX

58531 was the grandson of 11, who was the son of 255.
Now, 58532 was thirteen when he made the 1pwn, and 255
was 40 years old when he went with the o531 to yIR
SR’ one year later, at which point 58531 was 14,

40 - 14 =26

PNTY RNONT W NN T

TR 3N TN TN 53T NONWR

If we subtract two years for the three pregnancies, we see
that each generation gave birth at age eight.

26-2=24

24/3 =8
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2

M= I SN
e T
25 IR NS N DOEN TR
The Gemaras points out
NP DY N 51T DNAR R¥D)

Apparently, bn12aR was two years older than .
Now, b2 married nw, who was pn’s daughter,
and mw was ten years younger than he was.

Thus,
MWD NN NTHIN 13 NONWN
NTDIN 1PN

mw was born whenpn was eight years old.

oY
However, the Gemara rejecty f/zwpma[]é'
MN NNRT RVIT DNN2AR RNLT
nd ywn N 105D T

Perhaps bnan was the youngest of the brothers,
yet the Pasuk lists him first
since he was the most notable of the brothers?

3
aUAR RV SRS
S S
5nbva was the grandson of 30, who was the son of 25>.
Now, 5rbxa was thirteen when he made the jpwn,
and 25> was 40 years old

when he went with the D523 to 58w yIN one year later,
at which point bRb¥2 was 14.

40 -14 = 26

"2 RNYNT W *NIN HT
TYIR 2NN TM TN HYOT NONWR

If we subtract two years for the three pregnancies,
we see that each generation gave birth at age eight.

26-2 =24
24 - 3=8
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